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STUDENT: So this is top, right? 

STUDENT: Yeah. 

STUDENT: So we have to make a bottom. So it has to increase then. Zero. Zero. Should it start here? Or 
do you think it should start here? How should we do it? Maybe we can do... What should we go by? Like, 
two's... 

STUDENT: We can start at two. 

STUDENT: Two? Okay, so this would be zero, 2, 4, 6. Like this? 

STUDENT: I guess. 

STUDENT: Okay. Then, how about these ones? Do these ones by ones or...? Maybe we should do -- 
maybe we should go by these ones. We should go by decimals. 

STUDENT: Like this? 

STUDENT: Yeah. So 1, 2, 3, 4, 5. We can do 0.0, .5, 1, and then 1.5, and then 2. Okay, so now we just 
draw the line. So maybe we can do... Do you want to start at two? 

STUDENT: Yeah. 

STUDENT: Okay, so let’s try to do... Line going up to here. And then end at two? 

STUDENT: At six. 

STUDENT: End at six? 

STUDENT: I think it ends at four. 

STUDENT: Ending at four? Or should we start at four? 

STUDENT: Start at two and end at six. 

STUDENT: End at six? So should we do it by ones? Like, 1, 2, 3, 4, 5, 6. Okay, let's try. Do you want to do it 
by decimals? 

STUDENT: [Inaudible]. 

STUDENT: Here. So should we go by decimals or whole numbers like this? 

STUDENT: Go by half a second. 

STUDENT: Half seconds? So, these ones? 

STUDENT: Yeah. 

STUDENT: Okay, let's... Should… What should the ending be? Four? 
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STUDENT: Six. 

STUDENT: G3 starts and then at four centimeters, and goes...two centimeters... 

STUDENT: From .5 seconds it would be... 

STUDENT: One. 

STUDENT: Yeah. And then… so we have to find the -- 

STUDENT: Slope. 

STUDENT: Hm? 

STUDENT: Find the rate of change. 

STUDENT: So look at two points. Just find two points. 

STUDENT: Two points here? 

STUDENT: No, like, so this would be one point and then this would be another. 

STUDENT: Mm-hm. 

STUDENT: So the left, so it goes 1, 2 then over 1, 2. So that's the slope, two over two. So it equals one. 

STUDENT: So we don't need to do this one. So this one, we're already done. This one, we still have to do. 
So this one is correct, right? 

STUDENT: Yeah. 

STUDENT: Okay, so that one is correct, and then there's these ones we still have to do. These ones are 
correct, right? 

STUDENT: Yeah. 

STUDENT: Okay. Yeah. [inaudible] Now... So, let's see this one. This one...this one we already did 
because...let's see. See if we compare this one, these ones match and then these two match. This is the 
top, bottom and these are the ones that are top, bottom, top, bottom. And then this one, it goes four and it 
ends at one second. And then this one starts around, like maybe two, and then this one ends at six or, like, 
around six. So, let's see. So it stops, like, maybe every...every, it decreases every, like, maybe one second. 
Or, maybe like, one centimeter...or it decreases one second.  

So after one centimeter, it decreases one second. And for these ones, for the same thing. After one...they 
all have the same constant rate. So after one second...after one centimeter it decreases one second. 


